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LAW
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1. Read Assertion (A) and Reason (R) and give the correct answer using the codes given

below :

Assertion (A) : By amendment, the parliament cannot destroy the Basic features of the
Constitution of India.

Reason (R) : The power to amend, does not include the power to abrogate the
Constitution of India.

Codes :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) (A) is false, but (R) is true.

(4) (A) is true, but (R) is false.

2.  The Special Bench of the Supreme Court unanimously observed that, even petitions filed
under Article 32 are subject to the general principle of res judicata in one of the following
cases.

(1) M.S.M. Sharma v/s. Dr. Sree Krishna Sinha
(2)  S.P. Gupta v/s. Union of India

(3) Charanlal Sahu v/s. K.R. Narayanan

(4) Ranji Thomas v/s. Union of India

3.  Which of the following Article/Articles of the Constitution empowers the Parliament and
the Legislature of a State to create ‘the contingency Fund of India’ or “the Contingency
Fund of the State?

(i) 265 (i) 266

(iii) 267 (iv) 268

Codes :

(1) (@), (ii) and (iv) (2) (@), (iii) and (iv)
(3) (i) and (iii) (4) (iii) only

4.  Incase of a bill other than money bill the State Legislative Council
(I) can veto the bill
(2) cannot veto the bill
(3) request a joint session of the Legislature
(4) send the fill back for reconsideration
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AITHUT (A) : TN o R, TIF TRA & Gree bt Tot faeadisti sl T & & el |
FHRUT (R) : GO o SR H TR % Gere = o R0 Sl SRR wiiet 72l € |
£

(1) T (A) 3T (R) Tl &, @AfehT (R), (A) i el e T2l ¢ |

(2) T (A) 3R (R) Tl € 3R (R), (A) F T&l AT |

(3)  (A) e €, Wi (R) el & |

(4)  (A) T T, A (R) T € |

frfefaa & 9 5 ame O STIaw e @ foRiT Eedie 3 A € R 3s 32 % 3ida
TR ATt o ge = o 31 Tt o o € 2

(1) UHUH.UA. M7 SM <. SiHw e

(2) TEI T I IR G

(3) EROT AT WIE S 6, 3T, AR

(4) TS 9GS TR T

frefafed & ¥ Giaue &1 ®F qUd 3ws 98 3T U T5T & [OuH Hed &l “9Rd &l
SATHTHE BT 3TN T Tl STH [T BT T o ATIHRT TS HLdl & 2

(1 265 (i) 266
(ii) 267 (iv) 268

Elcg‘d' :

() @), (i) &R (iv) (2) (), (iii) 3 (iv)
(3) (i) 3R (iii) (4)  (iii) FaA

o7 fordges o aretan s fadgss o el | 59 fag uite fefafad § o T Gl § 2
(1) fadge = aie & Gl ¢ |

(2) fadges % & T&l = Fqhdl ¢ |

(3) fodge & foTu ek T @ 1 STUR @ Fehall ¢ |

(4) faemes ® FHITER % T oo 9 Hehdt € |
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5. In case of inconsistency between the laws made by Parliament and the laws made by the
State Legislature, which one of the following shall prevail ?
(1) The Law made by Legislature of the State.
(2) The Law made by Parliament before the Law made by Legislature of the State.
(3) The Law made by Parliament after the law made by the State.
(4) The Law made by Parliament either before or after the law made by the Legislature
of the State.

6. The term ‘Law’ includes every branch of Law, yet there is difference between
Constitutional law made in exercise of Sovereign Powers and hence an amendment is not
covered within the definition of Law provided in Article 13(2) and (3) of the Constitution
of India. This observation was made by the Supreme Court in
(1)  Sajjan Singh v/s. State of Rajasthan
(2) Sankari Prasad v/s. Union of India
(3) Golaknath v/s. State of Punjab
(4) Maneka Gandhi v/s. Union of India

7.  Match List-I with List-II and give the correct answer by using codes given below the lists.
List -1 List — 11
(a) Rajesh Gupta v/s. State of U.P. (i)  Execution of Death
sentence by public hanging.
(b) Attorney General of India v/s. (i) Reservation to women.
Lachma Devi
(c) Avinash Mehrotra v/s. Union of (iii) Traffic in human beings

India includes devadasis.
(d) Vishal Jeet v/s. Union of India (iv) Right to safe education.
Codes :

(a) (b) (©) (d)
() () (v) (i)
@ O (i) (v) (i)
3 () (iii) () (iv)
@ @) (@Gv) (i) (1)

8.  Match List-I with List-II and find the correct answer by using codes given below the lists.
List - I List — II
(a) A.C.Jose v/s. Sivan Pillai (1)  Powers of Electron Commissioners
(b) S.S.Dhanoa v/s. Union of India  (i1) Provisions for NOTA
(c) Digivijay Mote v/s. Union of (iii) Use of electronic machines for

India casting votes
(d) Peoples union for Civil liberties (iv) Postponement of the election on
v/s. Union of India account of disturbed conditions
Codes :

(a) (b) (©) (d)
() (D) (1) (iv) (i)
(2 (D) (i) (iv) ()
(3) (i) (iii) () (iv)
@ () (1) (iii) (i)
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5. TS P FN ST T BT 3R 5T 9 HeeT o gRT 99T T HHAT 6 aie ST o Iel |
frefeiad 5 & =1 ST 2 2
(1) 7T [agMTEd §RT ST 7T A |
(2) T fagMYee §RT 99T T HFA & Y6 998 & FRT ST T 6 |
(3) T T HEe % §RT SHIT T A & 91§ 9 §RT ST T HAA |
(4) TH fouM Heet & §RT S T HFA | Teel 3T 9% | WHS % §RT 41T T A |

6. ‘fafer v o fafy i & v wntHer & ety o wifed & v § 18 T Gaentaes fafy & o
R & | =Teiad ° & fohd Aol § 9RA & oy & Sw=s 13(2) 3% (3) | e oy @i
RIS o &Y HINEA I WA T8l Al T §, STIdd e §RT 69 A § 9
STTATH AT & 9
() o [ a1 M T = T
(2) TR UGS S ORT 99
(3)  TICTShTY S USTe I
(4) T M S TR T

7. GE-1 9 G-I ¥ GRTEE T ST gt % A T 10 e § | Het S S o i
=t - 1 = - 10
(a) TSI AT ST STRIRYT ST (i) ESHS ® G & R Gog 58 H o=
(b) YRA & HETAEER S AT Sal (1) HIEeAT3Tl ol STRRI0T
(c)  SATOHTST HeHT ST R Hef (iii) TSI T FATIR § Iograr oFf Grferd & |
(d) Toomet Sia a9 R T (iv) GreId RTeT 1 SRR
T

(=N

(a) (b) (© (d)
(1 () (1) (v) (i)
@ O (i) (v) (i)
(3 (i) (iii) (1) (iv)
@ @) (@Gv) (i) (1)

8. -1 A1 ¥ Gl I 3R Gt & A1 KT T el F F Tl IR 0 987 i

=t - 1 =t - 11
(a) TEEL ST T e fuet () THares e ot wifear
(b) TEUY. gAET ST YR 99 (i) e & ferT raEe
(c) Tefrasa A 999 wRd 99 (iii) TR & feTT gorareit-eh HeTHT b1 ST
(d) YT FHEA wR fafae foees (iv)  owNd Refaar & SReT gAmE 6
I YR 9"

T4

(=N

(a) (b) (© (d)

() (D) (1) (iv) (i1)

(2) (i) (i1) (iv) (1)

(3) (i) (iii) (1) (iv)

@ @Gv) (1) (iii) (i1)
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10.

11.

12.

Read Assertion (A) and Reason (R) and answer by using the codes given below :

Assertion (A) : Administrative law is a law, but it is not law in the lawyer’s sense of the
term like property or contract law.

Reason (R) : In India, Administrative law, is a combination of judicial precedents and
statutes.

Codes :

(1) Both (A) and (R) are true and (R) is correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

In which of the following cases doctrine of necessity was applied by the Supreme Court ?
Answer by using the codes below :

(a) Election Commission of India v/s. Dr. Subramaniam Swamy.
(b)  Ashok Kumar Yadav v/s. State of Haryana.

(c) Institute of Charted Accountants of India v/s. L.K. Ratna.

(d)  Amarnath Chowdhary v/s. Braithwaite.

Codes :
(1) (a) and (b) only (2) (c) and (d) only
(3) (a), (b) and (c) only 4) (a), (b), (c) and (d) all

In which of following cases the Supreme Court of India made reference to ‘legitimate
expectation’ to review the administrative action ?

(1) State of Haryana v/s. Darshana Devi.

(2) State of Kerala v/s. K.G. Madhavan Pillai.

(3) Mahavir Singh v/s. State of Rajasthan.

(4) SAHELI, A Women Resource Centre v/s. Commissioner of Police.

Which of the following statement is correct in relation to the establishment of Lokayukta

under the Lokpal and Lokayukta Act, 2013 ?

(1) Every State shall establish Lokayukta strictly under this Act within four years from
the date of commencement of the Act.

(2) Every State shall establish Lokayukta by the law of legislature, if not established
earlier, within one year from the date of commencement of the Act.

(3) The states already having Lokayukta shall amend their Acts within one year and
other states shall establish within two years from the date of commencement of the
Act.

(4) States need not to establish Lokayukta.

Paper-111 6 J-58-16



9.  3fHEA (A) 3R FRIT (R) UieT iR Fe=faiad $et 1 v s Tl ST ST
AHAT (A) @ TRTAMSE FFA U HH § fohq T& Fehict i gite H Fafd a1 HE=T FFF & 9t
HT TETE |
HROT(R) : TRA H TRTEMS B 119 Jal ForET SR rareai 1 a6 & |
[ YA
(1) (A) 3T (R) AT Tl & 3R (R), (A) T el == € |
(2) (A) 3T (R) 3HT Tl & g (R), (A) T Tt == Fal € |
(3) (A) TR (R) T ¢ |
4) (A) T E, fohg (R) WET & |

10. T=AfAREd o Tohd hHi T STERIHaT Sl (GG Soaad =-Terd g1 A o6 T 2
Trfetfiad et 1 Tt Y 3T T
(a) ¥R ol farE AR 9 S, GorIoad @t
(b) 3TN FAR ARS TAH ERATOT T
(c) TRIYS Ah Aee ThSe<d Ah Sredl M TeA.oh, I
(d) STRATT = S S

C YAH
(1) e (a) 3R (b) (2) (c) 3R (d) FaeA
(3) (a), (b) 3R (c) FaeA 4)  (a), (b), (c) 3R (d) T+

11. T=faiEd 9 ¥ 69 9 ¥ 9Rd % STaaq <I@ed § WREHES BRATE & GAeT & forg <fafy
T T o ey f5ar € 2
(1) R T T4 9T <t
(2) T ST AT hSTT, ATEE Uoers
(3) TEER [Hg a9 TSI T

(4) TR, U Ao HAEH H5 S o STeR

12. Ul 3R olibe ATHE, 2013 & ST AhEad S 0T & G99 § H=ferad § 9

I T HoH T E 2

(1) U ToF 39 Suia & IR &f fafr I 9) aut & 375T 87 Afufam o 3T oAb
T TITIAT BT |

(2) UAF TF T SaT & SR i fafT & v ad & 378 SAlprger afg gd | g T2 &
@t foraTEE I fafy o §RT SHe! SO T |

(3) 3O AT & IRY B & U a9 o AT 57 Toal | UBed & ke § ot srfufamt
T T HOM S THL T 3 361 o 73T ARG MU B4 |

(4) T D ABHRT I T R ol ST el § |
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13. In the following cases Lokpal has jurisdiction to conduct inquiry. Answer by using the
codes below :

(a) Member of Parliament
(b)  Group ‘C’ and ‘D’ public servants

(c) Employee of the Board or Corporation or Company financed by Central
Government.

(d) Any officer of Society or Association or Trust wholly or partly financed by Central

Government.
Codes :
(1) (a) and (d) only (2) (b) and (c) only
(3) (a), (b) and (c) only 4) (a), (b), (c) and (d) all

14. Give correct answer by using the codes given below :
(a) The writ of mandamus as well as the writ of certiorari is available against
administrative authorities as well as judicial and Quasi judicial authorities.

(b) The writ of mandamus acts where authority declines jurisdiction whereas the writ of
certiorari acts where the courts and tribunals exceed their jurisdiction.

(c) The writ of mandamus compels whereas the writ of certioraris corrects.

Codes :
(1)  Only (a) is correct. (2)  Only (a) and (b) are correct.
(3)  Only (b) and (c) are correct. (4) (a), (b) and (c) all are correct.

15. Match List-I with List-1T using codes given below :

List -1 List — 11
(a) A.K. Kraipak v/s. Union of India. (1)  Rule of Pecuniary bias.
(b)  Gullapalli Nageswar Rao v/s. A.P.S.R.T. (i1) Rule of official bias.
(c) State of Orissa v/s. Binapani Devi. (ii1) Rule of Personal bias.
(d) Mahapatra & Co. v/s. State of Orissa. (iv) Rule of hearing.

Codes :

(2) (b) (©) (d
H (i1) (i) (iv)
(2) (i) (i1) (iv) ()
(3) () () (i1) (iv)
4) () (i1) () (i)

16. Which one of the following theories of punishment studies the psychology of the criminal
and takes the punishment as a social end ?

(1) Preventive (2) Deterrent
(3) Reformative (4) Retributive
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13.

14.

15.

16.

AT T TR hal B STre e T SR & & | FTeiad el S UEHT T 3T JITT ;
(a) UEE IS

(b) THE T AR T T HIH

(c) % TR g ford it &S a1 HaRe™ a1 oAl o HHaR!

(d) % THR R YOI: A7 3797 famoiford HIQree! a1 TRIGue a7 28 i g 9t e

E T

(1) % (a) 3R (c) (2) e (b) 3R ()

(3) & (a), (b) 3R (c) @) (@), (b), (c) 3R (d) Tt

frTeIRad el s T FY Tel TR T

(a) TERY R 2R ISWT R wemai-es mikeRtal, =nfaes aur 314 =t miemal & foeg
I ¥ |

(b) RERY R TET B T € &I MHHR AHR & F TR T a1 & Seleh Siuur R ol
SHTH AT & STeT FrTerd ST ATHI0T 3 AR & & 3tfeh &1 S € |

(c) TRARY R area el & STafeh ST R 3o T ¢ |

B

(1) et (a) T E | (2) e (a) 3R (b) T T |

(3) e (b) 3 (c) W T | (4) (a), (b) 3 (c) TT T & |

TEI-1 3R Gell-11 T GATAd HifoTT 3R Gredi & = §T 7T el Sl FerdT ¥ 3T T
T -1 = - 10

(a) W, ShIEUTeh S YRT T () o7 Tt veTaTd o1 FEw

(b)  TeeTIeA! ATRER e ST T TH, 32, (i) THRI geTaTd 1 I

(c) S TF S SOMIHT et (il) SATFHT T&TIT T a9

(d) TR UE AT 99 ST 59 (iv) gAaTE =1 g

T4

(=N

(a) (b) (© (d)
(O CY (i) (i)  (@v)
(2 (D) (i) (iv) (1)
(3) (D) (1) (i) (iv)
@ () (i) (1) (iii)

frafeafad § 9 9 A1 38 1 g TR & FAlfeR 1 39 Al € 217 58 i JHITS
YT % T § WHR AT S ?

() Tor=s (2) TIRAHR

(3) GIREH (4) wiaeRY
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17.

18.

19.

20.

“The movement of progressive societies has hitherto been a movement from status to
contract.” This statement is of

(1) Savigny (2) Roscoe Pound
(3) Henery Maine (4) Puchta

The difference between judicial and legislative creativity has been that “the creative power
of the court is limited by existing legal material at their command. They find the material
and shape it. The legislature may manufacture entirely new material.” This statement is of

(1) Kelsen (2) Blackstone
(3) Allen (4) Bentham

Match List-I with List-II and select the correct answer using codes given below.

List -1 List - II
(Statement) (Kind of Possession)
(a) Principal deposits goods with an agent. (i)  Corporeal Possession

(b) Buyer purchasing a book from the shopkeeper. (ii) Mediate Possession

(c) Owner losing his watch. (ii1)) Incorporeal Possession
(d)  Author’s copyright to his work. (iv) Immediate Possession
Codes :

(a) (b) (© (d)
(1 () (1) (v) (i)
(2 (D) (i) (iv) (1)
(3 (i) (iv) (1) (iii)
(CORNCY (i) (i)  (@v)

Read Assertion (A) and Reason (R) and give the correct answer with the help of codes
given below :

Assertion (A) : The most important power of an owner is the right to exclude others.
Reason (R) : The owner may grant to another many of his rights and yet remain owner.
Codes :

(1) (A) and (R) are true and (R) is the correct explanation of (A).

(2) (A)and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

Paper-111 10 J-58-16



17.

18.

19.

20.

TSIl FHTSI hT STEIT STadeh 2rad ¥ GiereT e &l Ma @I & 1" T8 HAT ¢
(1) St = (2) IR RIS
(3) TR =T (4) =T H

=ATeh 3R TaErl GoHIeTehaT & are 98 9% @1 § o “=Aer i goriesh i 39 Taee §
Torrmr fafer Tl 9o Fitaa & | S Q0 W Bt € 3R 38 MR U e & | forentar
R TE W T T 61 FHOT A TRl € 1 T8 B R § 2

(1) oo 2) =FHwE
(3) WM 4) =

-1 3 -1 1 e HT it g 3 e e gt = we @ S A

Tt - 1 =t - 11

() (T BT THT)
(a) Tifgoer oo & 99 91t ST T E | (i) e Pl
(b) TRIZIR JHFAER ¥ T GIRAT & | (i)  RYE e
(c) T ol TS TH & ST € | (iii) 3T oot
(d) @ 1 U T HT HIAREE (iv) SIeaeT sl

(a) (b) (© (d)
(1 () (1) (v) (i)
(2 (D) (i) (iv) (1)
(3 (i) (iv) (1) (iii)
(CORNCY (i) (i)  (@v)

AMHT (A) 3R HROT (R) UigT 3R Fefeiiad $i i Temdr ¥ Hel 3T i ;
ATTHUT (A) : TTHT D GoId TewogoT IMerd TERT BT STIESH HIH T SEBR & |
HIOT (R) : WA 210 31k 3R &Y o1 S Tehall & X R ot Tt 3 el € |
£

(1) (A) 3T (R) T € 3 (R), (A) H T A= E |

(2) (A) 3T (R) eI T, fohq (R), (A) T el AT el & |

(3) (A)WE, HIR) AL |

(4) (A Td &, g (R) WET € |
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21. Match List-I with List-II and select the correct answer using the codes given below.

List - I List - IT

(a) Right not to be harmed. (1)  Imperfect Right
(b) Right of freedom from bodily harm. (1)) Right in Personal
(c) Right to recover debt. (ii1)) Personal Right
(d) Right to recover debt barred by lapse of time. (iv) Negative Right
Codes :

(a) (b) (© (d)
C) RN )] (i) (i)  (v)
@ Gy (i) (i) (1)
(3) (i) (iv) (1) (iii)
4 (D) () (iv) (i)

22. Read Assertion (A) and Reason (R) and give the correct answer with the help of codes

given below :

Assertion (A) : Austin said that, “only the laws set by sovereign to the members of a

political society are positive law or law simply and strictly so called”.

Reason (R) : In this theme of explaining laws, Austin attached importance to the element

of sanction.

Codes :

(1) (A) and (R) are true and (R) is the correct explanation of (A).

(2) (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

23. Which one of the following statement correctly conveys Fuller’s theory of inner morality

of law ?

(1) The contents of every law, in order to be valid, must be of a minimum moral
standard.

(2) The question of morality of law is not for the courts.

(3) The question of morality of every law is a matter for the inner conscience of the
legislators and judges have nothing to do with it.

(4) Every piece of law, in order to be valid, must fulfil certain procedural requirements

Paper-I111

like generality and consistency, etc.
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21, T S L T T S S T T gt e w3 S

(a)
(b)
(©
(d)

(1)
2
3)
“4)

Tt - 1 =t - 11
TR &l T ol ATHHR | (i)  31gul ARBER
RN IR T T T SIHR (ii) <At Hedl TR
T TG T ATRR (il) AT AR

U & AW & F I 0T Sl TGl T SMIHR (iv)  AHRITE SHR

(a) (b) (© (d)
@ ) @G Gv)
(v) i) (D) @
i) (v @ (iii)
(iii) 6) iv) (i)

22. 3N (A) 3R HRUT (R) UfeT 3R FHfcRad $ei ol Teraar ¥ ¥t 3T iy :
AT (A) : 3T 7w o, “TsHiTae O & 3@ & folt el gon] gRT H9a A

FhRIcH I A1 A TATHIT A &7 |

% (R) : B B AT H T ST T0Fewg | e F Il & aw ol Tewd [ g |

T4

(=N

ey
2
3)
“4)

(A) 3T (R) W&l € 3T (R), (A) I T AT & |
(A) 3T (R) W €, & (R), (A) I Tel =T Fé1 & |
(A) e €, T (R) T € |

(A) T 2, g (R) TeT ¢ |

23, TEfeRad O ¥ B T HUT B Dl RS ATTehal o Folk o (GFT i Sh-3ieh THIT BT

T7
(D
(2
(3)

4
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TS B Dl [TTFE], 99 e o 1T, A Afde T 1 SR giFT a1t |
B ST ATTehaT T U9 ~IRTerdr & o el ¢ |

edsh I 1 HTqehdl T U ToreTehl o 37T Y0l T faug & 3T Ao ol 399 $iE
A A E |
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24.

25.

26.

27.

Considering the jurisdiction for trial of accused Match List-I with List-II using the codes
given below :

List -1 List - II
(1) Person travelling in British (a) Country having its admiralty
Airway at Delhi. jurisdiction.

(1)) Indian travelling in Air India (b) India having its extra-territorial
at Pakistan. jurisdiction.

(i) A Sovereign representing an (c) India, provided he is an Indian
un-recognised state. national.

(iv) A man while in voyage with (d) Immunity by virtue of convention.
his Indian wife.

Codes :

(a) (b) (© (d)
(CORENCY (i1) (iv) (iii)
(2 () (1) (i) (i)
(3) (i) (i1) (iv) (1)
4 @Gv) (i) (1) (i1)

In which of the following judicial commutation becomes an impossibility ?
(I) Double murder

(2) Sedition

(3) Gang rape followed by homicide

(4) Refugee committing a crime in India

The criminal liability can be fixed for mis-representation as per section 90 of Indian Penal
Code, is ascertained when the consent is obtained by

(1) Fraud which prevents exercise of will.
(2) Fear of being forced to suffer injury.
(3) Persuaded to cure from snake bite and submitting to it.

(4) Causing miscarriage to terminate illegal pregnancy.

Which of the following acts do not relate to instigation ?
(1) Express solicitation (2) Counselling to console

(3) Stimulation (4) Insinuation
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24.

25.

26.

27.

e % foramoT & fw SR & o foem s 8T A= KT T %2l 1 T o gEl S
GaA-11 ! GfeTd HifeTT |
Tt - 1 =t - 11

() feoott & fofesr weres & amn  (a) 391 570 STelid R 8T A& |
THIAT g3 AT

(i) IR H UK AT H AT (b) WRA o URINTohaR 3TTUehR &1 |
AT g3 AR

(i) W W= ud T H (¢) XA, 99 o 98 IRAE A & |
AT e el ToRg

(iv) U A T YRA™ et 6 (d)  STEHT o HROT ST
T AE AN H € |

B

(=N

(a) (b) (© (d)
(CONCY (i) (v) (i)
2 () (1) (i)  (@v)
(3) (D) (i) (iv) (1)
@ Gv) (i) (1) (i)

frfetad o 9 fohas =t eehior SFa9e 5 ST & 2
(1) =SB sEn

(2) THEE

(3) WHfEH TATHT % a1 AAG oY

(4) ORA H 3YORTY HIA G IR

IR 5 WEaT 4R 90 & AR AR & {olT ORI S1feed e fohar ST Tehar €,
STe Ig gireed fpar ST & o Tenfd off S & —

(1) U R T BT o YFHT i AhaT ¢ |

(2) =IE "e % g e {6 ST & w3 g1

(3) WU F TEAST o fIT R femar ST @i &8 | o

(4) 3T THIEEAT I FA H & AT THUTT HET

fre=feiiad & 9 i 9 %1 ShamEr ¥ et T8l & 2
(1) ITeT STTeTaRT AT (2) WicaHT &% ToIT o
(3) S (4) Ul v
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28.

29.

30.

31.

Read Assertion (A) and Reason (R) and using the codes given below choose the correct
answer:

Assertion (A) : A riot is simply an unlawful assembly in a particular state of activity.
Reason (R) : The use of force distinguishes riot from unlawful assembly.

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Assertion (A) is correct, but Reason (R) is incorrect.

(3) Reason (R) is right and Assertion (A) is wrong.

(4) Both Assertion (A) and Reason (R) are wrong.

A Police Officer destroyed the FIR as he could not conduct the investigation due to other

occupation but later, upon media report, made a fresh report basing upon totally different

fact. What offence, if any, has been committed by him ?

(1)  Secreting the document as per section 175 of IPC.

(2) Destruction of document to prevent its production as evidence as per Section 204 of
IPC.

(3) False representation for prosecution as per section 205 of IPC.

(4) Fraudulent removal of document to avoid seizure as per Section 206 of IPC.

Read Assertion (A) and Reason (R) and give the correct answer using the codes given

below :

Assertion (A) : A single blow with a dangerous weapon on a vital part of the body makes
the offence as murder.

Reason (R) : It is immaterial that the injury was done without any specific intention.

Codes :

(1) Both Assertion (A) and Reason (R) are correct and (R) is the correct explanation of
(A).

(2) Assertion (A) and Reason (R) are occasionally complementary to each other.

(3) Assertion (A) is correct, but Reason (R) is not supplementary to it.

(4) Both Assertion (A) and Reason (R) are wrong.

‘A’ dishonestly abstracts electricity running in electric wire connected to his house. The

offence of committing theft of property is punishable under which of the provisions of

IPC ?

(1) Causing theft without consent as per Section 378 of IPC is punishable under Section
379 of IPC.

(2) In such cases use of penal provisions under IPC for theft is banned as there is a
special law for the purpose.

(3)  As there is dishonest movement of electricity the offence of theft is complete, so as
to attract Section 379 of IPC.

(4) As moving of electricity does not fall within the category of immovable property, no
offence is possible.
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28.

29.

30.

31.

fH (A) 3R HROT (R) UfeT 3R =t f5T 71T et 1 T Y el SR g :
AT (A) : T <1 [T FEeheAT i [ T 10y T A & |

T (R) : T 1 TANT S i 37 T9T H ST Sl & |

E T

(1) (A) 3T (R) IHT et & 31T (R), (A) Fl T&l ARATE |

(2) (A)TEE, fhg(R) Td € |

(3) (R) W&l & 3T (A) Tord & |

(4) (A) 3T (R) I ToA € |

T e USRI = TH, 37, IR, < T AT ik 98 T SAXAA o HRUT S Fal HT oAl
fohg a8 ¥ wifear ¥ RUiE o o g TR | =7 @28 & 3o W U& a1 Ui s | afg 39+
HIE STORTY Tohar & o T8 FTE 2

(1) T 9 It Bt &R 175 % AR SEAEST i D |

(2) 3T O | H URT 204 % AR TRF % T H 3 TRAd FH F Uk & fold TEAEST
& AT |

(3) T U Il A URT 205 F AR AR & foiw g ogem |
(4) 3TE O T B URT 206 F SR SR F Fo & [oTT TS 1 HUSIUT & ¥ 82T |

fH (A) 3R HROT (R) UfeT 3R =t 5T 71T et 1 T Y el SR g :

ATUHAT (A) : IR & TewaYoT 3 T GaRAT eAR H T & TR STIY T &cdl S ST § |
T (R) : T T ¢ o =ie fom ferdlt fafimee smmemr & ogamg 8 |

[ YA

(1) (A) 3T (R) IHT &t & 31T (R), (A) Fl T&l ARATE |

(2)  (A) #R (R) FH-F TF T F TF € |

(3) (A) Tl & T (R) T TRF &l & |

(4) (A) 3T (R) I ToA € |

‘A’ FRIFIEE 0 TR Y S fastelt & aR § 9 W@ STl w9 € | |utd & aRt S

ST 3T U Tt fohT WTeTeIT=T 3 ST G142

(1) 3TE O | ot ¥RT 378 & SR HeHIT o (o1 TRI AT 3 UF I bt &RT 379 o e
ST |

(2) UH HG H ORI & o0 S 0F I & ST SSAF WEHHT 1 WA Uiderad & i 59
RIS % foTe fae A ¢ |

(3) If fasTell il SEHFIGES of ST S Y@l § ST IRt S TRy ot § e ag o O
T TR 379 SFL HIATE |

(4) ek foTott o STHT 3Teet Tufd & ST § &7 37T & Hig o TR T9e 61 € |
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32.

33.

34.

35.

The Supreme Court while reiterating the significance of “Intergenerational Equity”
observed that “the present generation has no right to deplete all the existing Forest and
leave nothing for the next and future generation” in one of the following case :

(1) S.Jaganath v/s. Union of India.
(2) M.C. Mehta v/s. Union of India
(3) State of Himachal Pradesh v/s. Ganesh Wood Products.

(4) Indian Council for Enviro-legal Action v/s. Union of India.

Match List-I with List-II using codes given below.
List - I List - IT
(a) Banning plastic carry bag below 40 MW (i) Vellore Citizen Welfare
affecting Environment, Animals and Wildlife. Forum v/s. Union of India.

(b) The burden of proof will be on industry or the (ii) Research Foundation for
Unit which is likely to cause pollution. Science v/s. Union of India.

(c) Compensate for reversing the ecology and (iii) Banwasi Seva Ashram v/s.
compensate the individual for loss suffered. State of U.P.

(d) Dislocation of poor Forest dwellers will infringe (iv) S. Jaganath v/s. Union of
their Fundamental right to life and livelihood. India

Codes :

(a) (b) (©) (d)
(L () (1) (iv) (i)
@ (i1) (iii) (iv)
(3 (i) (iv) (i) (1)
@4 @Gv) (i) (1) (i1)

Which one of the conference is regarded as “Water Shed” in the field of Environment that
enables the international community and institutions to work without being bothered by
the principle of State Sovereignty ?

(1)  Stockholm Conference (2) Bali Conference
(3) Copenhagen Conference (4) RIO Conference

The relevant Constitutional Amendment which obligates the Municipal bodies to ensure
Environmental protection are

(1) 42" and 43" (2) 65" and 66"
(3) 71" and 72™ (4) 73" and 74™
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32. 3TUH EEE A HEGREd 98§ SidY 9@l 9Har o Few o Sedd g4 98 [l & R

33.

34.

35.

A g T TR T a7 T §ROT A 3 SFTeA a2 et gt o 1w 3 =& Ste 1 hig
(1) TH. SE=TT §99 IR 99

(2) UHHL Hedl 9T YRA T

(3) TEmTEET HRET TG S O I WewRd

(4) T HIFA BR THAEI-ANTA TR TAH IR T

-1 3 G-I 1 e T 3 A e T 2 e A I i

=t - 1 = - 10
(a) UATEROT, WIS SR SO I UAMGD ATl (1) ootk THieSH oo BRE
40 T TF ¥ Y & TN Il X UfTae ohm=T AT IRA T
(b) TN AT THE, THF WUV FA B GAEAT &, W (i) RET WEEIH BROGEH
g = o SR € 1 T YR G
(c) TRt # Soted & o0 &ifaqyfd 3R STl T8 (iii) oFaw Far SMHH SHH S
& o foIT Aot il &ty T

(d) Trd7 o= snfeat 1 o S @R Siieams & (iv)  UF. SOy S YR 39
I Hifetsh TR T Ieoted & |

(a) (b) (© (d)
(1 () (1) (v) (i)
@ O (i) (i)  (@v)
(3 (i) (iv) (i) (1)
@ Gv) (i) (1) (i)

Frfefad o | e TeH i TEeRYT & &5 § #Afd Agweul 7 S § S S SR
3 T3 <l T hT TEAT o T ol Wae 6T o1 M e & few gael s € 2

(1) M g (2) e e
(3) U T (4) & g

G e G ST JATaRoT TRET0T GHTeed i o fold STRTTersht fehral s amest st &
(1) 42™ 3t 43™ (2) 65" 3T 66™
(3) 71372 (4) 73" 374"
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36.

37.

38.

39.

Which one of the following statement is incorrect ?

(1) Environmental measures by the State/Central Government and statutory authorities
must anticipate, prevent and attack the causes of environmental degradation.

(2) Where the thefts are of serious and irreversible nature, lack of scientific certainty
should not be used as reason for postponing measures to prevent environmental
degradation.

(3) There need not be a bonafide reason to believe that the activity is not
environmentally benign.

(4) The onous of proof is on the actor or the developer to show that his action is
environmentally benign.

Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) : Customary International Law if not contrary to the Municipal Laws shall
be deemed to have been incorporated in the Domestic Law and shall be followed by
the courts.

Reason (R) : Sustainable development as a balancing concept between ecology and
development has been accepted as apart of customary International Law.

Codes :

(1) (A) is right, but (R) is wrong.

(2) Both (A) and (R) are right and (R) is the correct reason of (A).

(3) Both (A) and (R) are wrong.

(4) Both (A) and (R) are right, but (R) is not the correct reason of (A).

Which one of the following is incorrect ?

The National Green Tribunal vested with both Original and Appellate jurisdiction relating
to Environmental matters :

(1) have powers vested in a civil court.

(2) not bound by the rules of evidence.

(3) bound by the procedure laid down by the code of civil procedure.

(4) have powers to regulate its own procedure.

Read Assertion (A) and Reason (R) and give the correct answer by using the codes given

below :

Assertion (A) : The greatest shortcoming of International law is that it lacks an effective
executive authority to enforce its rules.

Reason (R) : Due to lack of effective sanctions, rules of International Law are frequently
violated.

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not correct explanation of (A).

(3) (A)is correct, (R) is wrong.

(4) (A) is wrong, (R) is correct.
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36.

37.

38.

39.

frfafad & 9 = |1 %9 Tod § 2

(1) ToT/Hs THR 3 Fitarass MHIEr R TFeR0Mg ST i GaieRui 8107 & RO
TETAM 3R FRIHIOT AT TIfET 3R Theht Wi et dey |

(2) ST TR TR 3R GURA AT 61 €, A Gradar & 3THIE i GaieRuie &7 Jeht
% o0 ST bt et o SHROT o T | JANT =T8T T ey |

(3) T fovars A HI HIT TS U7 HROT T SEAVIHAT &l 1o HrEhed TR 9§
feda T € |

(4) T€ U fF F a1 STAR HT FE qHERONT gfte F fedw €, Bl Qiiad AT SHH
SRR 7 |
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TR I & 3 & €7 H WhR a1 T e |

T

(1) (A) " e, g (R) T € |

(2) (A) 3T (R) IHT Tl & 3R (R), (A) T Tl FRT ¢ |

(3) (A) X (R) IH T € |

(4)  (A) &R (R) SHI T &, T (R), (A) T FEl RO T & |

fefeiEe o | i Tetd € 2

T R SfeRtor H yaleruig Arel | Fefud diferss 3T el stfuepes Hied €,
(1) =i =T 9 fed wfw € |

(2) eI F T A I T

(3) S ATHAT 1 Hiedl FRT Homas WishaT 517 a1 € |
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AMHT (A) 3R HROT (R) Ug 3 1 i§T 1T 2t T WENT e Tl ST S
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[ (YA

(1) (A) 3T (R) IHT Tl & 3R (R), (A) T Tl A€ |

(2) (A) 3R (R) 3FT TET &, W(R), (A) I T&l A7 T & |

(3) (A)FEE, (R)TdE |

4) (A)TEAE, (R)WIE |
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40.

41.

42.

43.

44.

Which of the following statement/Statements is/are correct ?

(a) Article 38 of the Statute of the Permanent Court of International justice mentions
only 4 source of International law.

(b) Right of passage over Indian Territory Case (Portugal v/s. India) is a case decided
by the International Court of justice based upon General Principle of law recognised
by Civilized States.

(c) Decisions or determinations of the organs of the International Institutions does not
find mention in Article 38 of the Statute of the International Court but has become a
Well-recognised source of International Law.

(d) In Chorzow Factory (Indemnity) case the permanent court of justice applied the
principle of subrogation.

Codes :
(1)  Only (a) is correct. (2)  Only (b), (c) and (d) are correct.
(3)  Only (a) and (c) are correct. 4) (a), (b), (c) and (d) all are correct.

In which of the following cases Russel J. observed, “the question of what state a person
belongs to must ultimately be decided by the Municipal law of the state to which he
claims to belong or to which, it is alleged that he belongs™ ?

(1) Winans v/s. Attorney General (2) Nottebohm’s Case

(3) Stoeck v/s. The Public Trustee (4) Somerville v/s. Somerville

The European convention on Extradition entered into force on
(1) 13" December, 1957 (2) 18™ April, 1957
(3) 18™ April, 1964 (4) 13" December, 1964

On 28™ March, 1945, a convention on Territorial Asylum was adopted at
(1) Geneva (2) Caracus
(3) Paris (4) Tokyo

Which of the following statement/statements is/are correct ?

(a) The General Assembly consists of all the members of the United Nations.

(b) The economic and social council, works as a subordinate organ of the General
Assembly.

(c) The General Assembly is a World Legislative body. It can Legislate in regard to
most political matters.

(d) Decisions on important questions are made by consensus of the Members present
and voting in the General Assembly.

Codes :
(1)  Only (a) is correct. (2)  Only (b), (c) and (d) are correct.
(3)  Only (a) and (b) are correct. 4) (a), (b), (c), (d) are correct.
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40.

41.

42.

43.

44.

frfafEd & 9 i F Fu- Tel /b 1 HI Tl ¢ 2
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(d) TETIT T o He § U Suferd 9el st gagmia 9 Y Herd § 7AqH 5N fory
S € |

G YA
(1) et (a) T E | (2)  HaA (b), (c) AR (d) T T |
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45. Which one of the following cases, has not been decided by the International Court of
Justice under its contentious jurisdiction ?
(1) Nuclear Tests Case (June 22, 1973)
(2) Corfu Channel case.
(3) Nottebohm (Liechtentein v/s. Gutemala) case.
(4) Legality of the Threat or use of Nuclear Weapons.

46. Grounds of voidable marriage under sec. 12 of the Hindu Marriage Act, 1955 are :
(a) Non-consummation due to impotence.
(b) Pre-marriage pregnancy by a person other than the petitioner.
(c) Consent obtained by force or fraud.
(d) Conversion to non-Hindu religion.
Codes :
(1) (a), (c) and (d) are correct, but (b) is incorrect.
(2) (d), (c) and (b) are correct, but (a) is incorrect.
(3) (a), (b) and (c) are correct, but (d) is incorrect.
4) (a), (b), (¢) and (d) are correct.

47. Match List-I with List-II and find correct answer by using codes given below.

List - I List — IT
(a) Dastane v/s. Dastane (1) Bigamy
(b) Igbal Bano v/s. State of U.P. (1))  Restitution of Conjugal Rights
(c) Lily Thomas v/s. Union of India (111) Maintenance of Muslim Wife
(d) Harvinder Kaur v/s. Harmandar Singh  (iv) Mental Cruelty

Codes :

(2) (b) (©) (d
(H (@) (i) () (i1)
2 O (iv) (i1) (i)
(3) () (i1) (iv) ()
4) (i) (i) () (iv)

48. Hindu Marriage Act, 1955 is not applicable on which of the following ?
(1) Virashaivas and Lingayats.
(2)  Scheduled Tribes unless otherwise directed by the Central Government.
(3) Hindus, Jains and Sikhs.
(4) Buddhists and followers of Brahmo, Prarthana or Arya Samaj.

49. A Hindu can adopt a male child if the adopter has no
(1) Son, Son’s son or Son’s son’s son.
(2) Adopted Hindu son, Son’s son or Son’s son’s son.
(3) Legitimate or adopted Hindu son, Son’s son or Son’s Son’s son.
(4) Legitimate Hindu son, Son’s son or Son’s Son’s son.
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45.

46.

47.

48.

49.

frfoiad 4 9 frg amel 9 SRS =g 3 19T UidferkiuTeres AT o qed =g el
ERIR

(1) SRR = HF (22 5[, 1973)

(2) HE TTA B

(3) TEM (feraiiea ST TEeHTeT) B

(4) GHH! DT AT AT ARG FATART T FIT

fe=g foame etfufam, 1955 6t arT 12 & idia Yoy foar & R & :
(a) TIGHAT % HROT X o=

(b) Trfaepreht § f=T fordl 37 =fo & RUT foame-qd ™ gRoT

(c) T a1 HUS & FRT U HeHfd

(d) T add o

£

(D) (a), (c) 3R (d) Tt & Fohq (b) T & |

) (d), (c) 3R (b) Tl & b (a) TET E |

3)  (a), (b) 3N (c) W & o (d) TorT & |

4) (a), (b), (c) IR (d) T T |

-1 3R -1 I AT I 3R A< T 7T Fef 1 TERT T Tl I &M

Tt - 1 =t - 11
(a) T SFH T () TEfoeme
(b) THATA THT T 3T, TF (i)  STOCRIPRI T Teae T
(c) ToTelt g ST TRA ¥9 (iil) TR I T FROT-IOT
(d) eI R I e fg (iv) AMHEE HIT

T4

(=N

(a) (b) (© (d)
H Gy (i) () (i)
@ O (iv) (i) (iii)
(3) (D) (i) (iv) (1)
@ (i) (iii) (1) (iv)

feg forame atfufam, 1955 ffefad & @ fova o oy =T € 2

(1) dwE 3R formaa

(2) YT SHSIITE! STaeh (o o TXhR §RT 3T 591 7 far T & |
(3) f&g, 59 oI fgaa

(4) g 3T S, WA AT SR FHIST & S

TS &g T6U ST i 3% TEUT e Gohell & ATE S UG0T el ol =Tel &l
(1) 93, T 1 a1 T F A

(2) % e oA AT feg O, O 1 UF AT A o O 1 I

(3) oY A1 I VUl {ohaT §o fe=g O, O b1 OF AT U & T 1
(4) =¥ fowg O, O G A G F G B
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50.

S1.

52.

53.

Section 2 of the Dissolution of Muslim Marriages Act, 1939 makes available the
following grounds of divorce to a wife :

L. Seven years or upward imprisonment to the husband.
II.  Continued impotence of the husband.

III.  Insanity of the husband for the last one year.

IV. Four years absence of the husband.

Codes :

(1) I, IIand IV are correct, but III is incorrect.

(2) 1II, I and IV are correct, but I is incorrect.

(3) I, II III and IV are correct.

(4) IIlis correct, but I, II and IV are incorrect.

Which of the following is not a ground of dissolution of marriage under the Hindu
Marriage Act, 1955 ?

(1) Non resumption of cohabitation atleast for one year after the decree of Judicial
Separation.

(2) Pre-Act bigamy by husband.
(3) Renunciation of the world.
(4) Pre-marriage pregnancy of wife.

Failing the mother, (by absence or disqualification) the following female relatives are
entitled to the custody of a Muslim child :

(1)  Father’s mother, how so ever high.

(i) Mother’s mother, how so ever high.

(iii) Full sister.

Each of the females have a preferential right. Give the correct order of priority with the
help of codes given below :

Codes :
(D (), (), (i) (2) (@), (3), (i)
(3) (i), (in), (1) @) (), (i), (i)

If any person against whom an order has been made under Section 3(3) of the Muslim
Women (Protection of Rights on Divorce) Act, 1986, fails without sufficient cause to
comply with the order, the Magistrate may sentence such person to imprisonment for a
term which may extend to

(1) one year.

(2) one year or until payment if sooner made.

(3) one month or until payment if sooner made.

(4) on month.
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50. e foeme fauea stataw, 1939 i 9RT 2 Uil %l Tl 3+ & [oT (=faiEd SR Sueisy

S1.

52.

53.

FHATE

[. i o 9 a9 a1 237k 1 HREE
II. ofd st T g

[II. T Uk a9 ¥ °fd sl IRTed=

IV. ofd % 9 961 ¥ Ui g |
£

(1) LIRIV T E g M Toa e |
(2) ILIIARIV T €, g [ Tera & |
(3) LILUIATIV T |

(4) MITEE FIL IRV T § |

fe=g foame etfufaw, 1955 % iama fafaiad § & o foame & foamaeT & emar & & 2
(1) =TIk GereheT i Tesht o 91 1 ¥ 9 T a9 dh FeaTd : I& el T |
(2) ufd 3Ry SHafEe o yd ffaame

(3) EER W AT

(4) U T faamE ga T groT

Tar & (Ut a1 FRear & §W) fawe e @ fefd @ giem aoe @ efiweT @
frAfefaa afee REaRR #1 & :

()  Toar =6t AT, =@ ST S R oft gl @l |

(i) AT Y T, T8 SO i TR o Gel HiEl |

(il) M & |

T HiEeT St ST SR & | < ST 7T el b Ferdar & WrIfeehar 1 Tt 5T Jared

E T

(1 @), (i), (iii) (2) (i), (i), (iii)

(3)  (ii), (ib), (i) @ (), (i), (i)

I YR o (TR 31 2T 31 STeand) TFe, 1986 i €T 3(3) & i fordt st
ey fear mar €, for vat RO 3 SR 1 e A | fahet @l €, Afeiee U SAfe @i
HRIATE T TS < Gehell ¢ TG!S & Fehell T

() THa
(2) TS A AT YTAH HH dh IS T8 SToal Y G STar g |
(3) T HIE I7 FIAH I T AMG T8 SToal Y 51 ST € |
(4) UHHE
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54.

5S.

56.

57.

58.

The UN Declaration on the Rights of Indigenous People was adopted by the General
Assembly on

(1) 13" September, 2005 (2) 13" April, 2006
(3) 13" September, 2007 (4) 13" November, 2008

Match List-I with List-II and select the correct answer using the codes given below.

List - 1 List — II
(a) The Virginia Bill of Rights (1 1789
(b) The U.N. Charter (i) 1215
(c) The French Constitution (i) 1776
(d) The Magna Carta (iv) 1945

Codes :

(a) (b) () (d)
() (D) (iv) (1) (i)
(2) (D) (1) (iv) (i)
3 @ (iv) (i) (i)
4 () (i) (iv) (1)

Article 27 of the International Covenant on Civil and Political Rights, 1966 recognizes.
(1) Minority Rights (2) Political Rights
(3) Civil Rights of Indigenous Persons (4) Voting Rights of Women

The convention relating to the status of Refugees was adopted by the United Nations on
(1) 28" January, 1950 (2) 20" July, 1950
(3) 28" July, 1951 (4) 30" November, 1952

Match List-I with List-II and select the correct using the codes given below.

List - 1 List — II
(a) Justice Ranganath Misra (i) 2" Chairperson of NHRC
(b) Justice A.S. Anand (i) 3" Chairperson of NHRC
(c) Justice M.N. Venkatachalaiah  (iii) 1% Chairperson of NHRC
(d) Justice I.S. Verma (iv) 4™ Chairperson of NHRC

Codes :

(a) (b) () (d)
() (D) (iv) (1) (i)
(2 (1) (i) (iv) (1)
3 @ (i) (iv) (i)
4 () (1) (i) (iv)
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54, I AN P ATIBRT Heell GRS I WTON ! HETAHT o 5T TR AT 7T 7
(1) 13 faawr, 2005 (2) 13 3, 2006
(3) 13 f@a=r, 2007 =t (4) 13 Fe=R, 2008

55.  FE-1 31 GEI-11 %l Goferd i 3R e ST 70 $ef 1 T T Tl S AMT

T -1 = - 10
(a) T FSIHAT ot S eed (i) 1789
(b) TIUF X (i) 1215
(c) T hd HEIeH (iii) 1776
(d) T HHHRE (iv) 1945

T4

(=N

(a) (b) (© (d)
(H G @Gv) () (i)
(2 (D) (1) (iv) (i)
3 O (iv) (i) (iii)
4 (i) (i) () (1)

56. Tafaer 3R ST SR Gl AT UETesT, 1966 HT Tws 27 ATl e Hl & :
(1) 3TcuwETsh ATHFRRT (2) TSI AEHRT T
(3) T3 AT i FAfaeT AR (4) o 1 garfer =

57. IROTIEAT ot Feafd @ Fated S am Sge I §RT WK fohaT T
(1) 28 SHad, 1950 (2) 20 eTE, 1950
(3) 28 [T, 1951 (4) 30 TawR, 1952 H

58. -1 31 -1 i GHfeTd IS 3R el [T 7T Hei 1 TEnT T Tl I &M

T -1 = - 10
(a) —IEEd Ty g () U9 U R G % g ARG
(b) —IFHA TUE, 3T (i) TATF AR G o AR R
(c) —AFYd UHEA, dheaetdl (i) U UF 3R W b Ygel TaRuE

(d) =aEgid Stug. 99t (iv) T U= 3 O o < ToRuE
AN

(=N

(a) (b) (© (d)

(H @G @Gv) (1) (i1)

(2 () (i) () (1)

3 (i1) (iv) (iii)

@4 (i) (1) (i) (i)
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59.

60.

61.

62.

63.

When a person is arrested by the police, they cannot keep the arrested person in their
custody for more than

(1) Twelve hours (2) Twenty four hours
(3) Thirty two hours (4) Thirty four hours

Which of the following statements are correct ? Use the codes and answer.

(a) Most of the rights of the Universal Declaration of Human Rights are incorporated in
Part III of our constitution.

(b) Most of the rights of the Universal Declaration of Human Rights are incorporated in
Part-IV of our constitution.

(c) Many of the Universal Declaration of Human Rights are included in Part-V of our
constitution.

(d) Few Universal Declaration of Human Rights are included in Part-XIII of our

constitution.
Codes :
(1) (a) and (c) only (2) (a) and (b) only
(3) (a) and (d) only (4) (c) and (d) only

Which of the following is not an essential element of tort ?

(1) Tort is a civil wrong.

(2) This civil wrong is other than a mere breech of contract and breech of trust.
(3) Itis similar to criminal wrong relating to uncivilized acts.

(4) This wrong is redressible by an action for unliquidated damages.

Two passenger buses crossed and brushed each other in such a way that the left hands of
two passengers in one of these buses were cut off below the shoulder joint. Drivers of both
the buses were held liable towards the victims, on the basis of :

(1) Contributory negligence (2) Composite negligence
(3) Nervous shock (4) Solitary negligence

Which of the following is an example of public nuisance ?

(1) Constructing a structure on highway.

(2)  Obstruction to light and air by neighbour in a private locality.
(3) Extension of the branch of an tree to other’s property.

(4) Running of loud music in the residential complex.
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59.

60.

61.

62.

63.

e 519 fohelt safor ot IR &Xct € f a8 IRTAR fohe o =afed &6l o9 31Ren o =@l @
el €

(1) TREEEH ATuH (2) =T 9 At
(3) U 3Nty (4) =idE 5 9 At

et ot § ¥ % 91 el & 2 Fel I TGN X IR ST

(a) WM 3TTHRT hl AT HIT0T & MY RISl gHR A€ & qHT-I11 T 2fdafase
T € |

(b) T AUHRT ! IEHIH ETUT o AeHaT ATUBHRI Bl TAN Wiee = & Y-V § idiae
T T € |

(c) TFT MUHRT T AAHIHE SOT H & P gAR W= o 9IT-V H INHA € |

(d) TFE ATHRT B QTS =0T § T F eI o™ & IIT-XI1 H e € |

E T

(1) % (a) 3R (c) (2) % (a) 3R (b)

(3) % (a) 3R (d) (4) 9 () 3R (d)

fr=fafEd o 9 i 9T S 6 Th v b el ¢ ?

(1) 3TI% T JEH! Tord § |

(2) IE AT Tl S A § Shaet BT 3TaY 3R [avard &1 Soete ¥ 3TenT € |
(3) T A Fd § eI T ARG Terclt o T ¢ |

(4) T oA BT STURMUIRG eifcat o for T & §RT GURT ST Tehell € |

I ST I T T W 9 TR © MEA g% 6 37 S 99 § | U 99 H HaR & Al % S
BT T T & g & A § BT T | AT 9811 & ATl &l EeEd § 3 69 3R ®
Rfedt & fofT STRERT =T T ;

(1) FEErT ATamw! (2) by ArRam
(3) THEEE yE (4) TS ATRATE!

frfefaa & @ S 91 Tk TrEsT—e STATT H I § 2
(1) TSTHERT WX Ush X T FH107 3T |

(2) U e Tt H Uil % FRT ST SR arg § e
(3) W H g | U T i IRGT HT AT

(4) SO URE T A H ST
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64.

65.

66.

Read Assertion (A) and Reason (R) and give the correct answer by using the codes given
below :

Assertion (A) : The rule of strict and absolute liability are on the principle of no fault
liability.

Reason (R) : Defendant can be held liable even if he may not be negligent and taken due
care and harm caused is unintentional.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

Match List-I with List-II by using codes given below.

List - I List - IT
(Name of Case) (Decision)
(a) Mayor of Brandford v/s. Pickles (i) Consumer can bring an action against
manufacturer.
(b) Donoghue v/s. Stevenson (1)) A hotel with high charges were expected to

take a very high degree of care to its visitors.

(c) Klaus Mittelbachert v/s. East (iii)) Nervous shock for the fear of injury to the
India Hotels Ltd. plaintiff herself was recognized.

(d) Dulien v/s. White and Sons (1v) If there is no damage to the legal right, action
does not lie even for malicious act.

Codes :

(a) (b) () (d)
(L (@ (1) (iit) (iv)
(2  @v) (i) (i) (1)
3 @ (iv) (i) (i)
4  v) (1) (i) (i)

In which of following the National Commission has no jurisdiction under the Consumer
Protection Act ?

(1) Appeals against the orders of State Commissions.
(2)  Original complaints where value of goods and services exceeds rupees one crore.
(3) Original complaints where value of goods and services upto rupees one crore.

(4) Call for record and pass orders if State Commission has failed to exercise
jurisdiction legally.
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64. 3T (A) 3R HROT (R) 08 3 1 KT 7T i 1 7T 9 I
ANUHAT (A) : FSR 3R YU7 MM o o Jie Wd ifae & fagia W |
& (R) : UidamsT 7 SHTR 8@ ST Tehdl § 9ol 8 SH SURT 7 &t &1 3R 3fod a1 skt

T4

(=N

(1)
2
3)
“4)

1 3R ThAM T T HROT TG & |

T (A) 3R (R) W1 € 3R (R), (A) 1 &l e € |

T (A) 3 (R) &l &, @ifeh (R), (A) i el e &l ¢ |
(A) T €, AfehT (R) T € |

(A) T €, W (R) TET T |

65. -1 ST G-I 1 T FT S A T T et o e A w5 S

(a)
(b)

©

(d)

ey
2
3)
“4)

Tt - 1 =t - 11
(WTHA T ) (FroTa)
ToR 3T SShiS o fUshed (1)  SUWIeT FHT0Tehal & faeih Siaems! Y qhdr ¢ |
SHMEE S Caa (i) 3T Yok oH aTeT Bleet W U ST o TTe
IR T TR T G & 3T 3 el & |
AT fHeTTede S S A1 (iil) @ IRl H 9 & 9 % [ HEfas SE H
gleed fal. T T |
SfeT T FTEC UE T (iv) A% HFAT gite ¥ HiE afd =&t ¢, ot fagoger s
T & foTT SHrdamel Fat st ST |

(a) (b) (© (d)
(ii) 6) (i) (i)
(v) i) (D) @
6) iv) () (i)
(iv) 6) (i) (i)

66. TTATATEd o | T ST GRI0T IRTHIH ST AT AN & =AAIHR & T Tal & 2

€]
2
3)
4

J-58-16

T ST o 3R & Rl 1oy
T ToTehTard STt AreT 3R Tarel 1 Jod Ush il I ° 31T &l |
ot TR STet AIeT 3R Qasti T Jod Ush FIE T a0 & |

(T ST AT BT SAMIDHR BT G B | 3TAHST & qhT & ol NhiS & folT AN
AT & 3T 3T TIRA FRAT & |
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67. Which of the following is not a legitimate need which the United Nations Guidelines for
Consumer Protection intends to meet ? Answer by using codes given below :
(a) Protection and promotion of the political interests of consumers.
(b) Consumer education.
(c) Availability of effective consumer redress.
(d) Prohibition of the formation of consumer organizations.

Codes :
() (a)and (b) (2) (a)and (d)
(3) (c)and (d) (4) (b)and (c)

68. Match List-I with List-II and select the correct answer using codes given below.

List - I List — IT
(Principle) (Judgement)

(a) Illegal condition of depositing a (i) United Bank of India v/s. Bank of
cheque. Baroda

(b) Filing a complaint for dishonour of (ii)) Central Bank of India Ltd. v/s.
a cheque against a company. V. Gopinathan Nair

(c) Negligence in collection of a (iii) S.Ramasamy M.D. v/s T. Ayyappa.
forged demand draft.

(d) Liability of a collecting bank for (iv) Pradeep Bhauraoji Lonarkar v/s. The
negligence. State of Maharashtra.

Codes :

(a) (b) (© (d)
(H Gy (i) (i) (1)
2 @) @Gv) (1) (i)
3 Gv) (i) (1) (i)
@ (i) (1) (i) (@v)

69. Which of the following statement is correct ?

(1) A promissory note or a bill of exchange in which time for payment is specified is
payable on demand.

(2) If the endorser signs his name only, the endorsement is said to be “in full”.

(3) Where an instrument may be construed either as a promissory note or a bill of
exchange, the holder may at his election treat it as either, and the instrument shall be
thenceforward treated accordingly.

(4) If the amount undertaken or ordered to be paid is stated differently in figures and in
words, the amount stated in figures shall be the amount undertaken or ordered to be
paid.
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67. FrafafEd § 9 7 Ush =AEETd SNavashdr e & N9 wga T & fqenfaen o Sk wRafor
% AT qX Tl ST & 2
e fST T el T ST FA U Tl TR BT TI HINT

(a)
(b)
(©
(d)

T4

(=N

(1)
3)

(a)

(b)

ST & AT Bl T GL&T0T U Gl |
SR TTeT |
T ST HTE o STty |
STHIEAT FSAT o TS 1 oY |
(a) 3R (b) 2) (a) AR (d)
(c) 3R (d) 4) (b) 3R (c)
68. G-I 3R G-I S GHTAIT BT 3R e [ST T Fel 1 T Y Tel 3T T
T -1 = - 10
(Fag=T) (Frota)
<eh STHT Y I Y I () TS 9% I Iedr AW O AE
EEI]
ot St o foaes 9% & IR & (i) el % A Ifedr fam. sAW e
foTT T9repra SRR AT AT AR

(©
(d

T4

(=N

ey
2
3)
“4)

e Irad fedre g & GUgoT | U (iii) U, THTATH U, €. a9 2, g
SURTT & T TTeeh Sieh ol ST (iv) VRO WTSEST MR 99 § T 3AH
HENIE

X

(a) (b) (© (d)
(v) (i) (i) (1)
(i)  (@v) (1) (i)
(v) (i) (1) (i)
(i) (1) (i) (@v)

69. frfaRad o 9 S 9 %9 G & ?

€]
2
3)
4

J-58-16

e = fafma o s e v T fafie g amw sy
IS JeSTehe e STAT 370 AT T AR | Y 3T & T Ye3ichT bl “qur” T SIIeT & |

STef ferdlt forae ot a1 af = O A1 [afmg O /7 S 8, 9Re 39 A9 W e i Uh
A kT & 37 11T ¥ fofad i agI%d /A1 SO |

I P & AT g <t T AT ARRTT ART ehT 3R IR § STOHT-STHT FaTE TS & of
3ehl | TS T XM YT % TIT ae-sifere a1 STRTT TieT ei |
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70.

71.

72.

Match List-I and List-1T and select the correct answer using the codes given below.
List -1 List - II
(Relevant Sections

L lati .
(Law relating to directors) under Companies Act)

(a) Appointment of Additional Directors (1 S.284
(b) Removal of Directors by Shareholders. (i) S.201
(c)  Special Statutory Protection for Directors against liability.  (ii1)) S. 260
(d) Exclusion of liability not allowed to Directors. (iv) S. 633
Codes :

(a) (b) (© (d)
(CORENCY (i) () (i)
(2 (D) () (iv) (i)
(3) (D) () (i) (iv)
@ () (i) (1) (iii)

Read Assertion (A) and Reason (R) and using codes given below, write the correct

answer.

Assertion (A) : The creditors of a limited company are particularly happy due to doctrine
of indoor management, it would be happier still if the company could escape
liability by denying the authority of the officials to act on its behalf.

Reason (R) : Because L.C.B. Gower has written so.

Codes :

(1) Both (A) and (R) are right and (R) is the correct explanation of (A).

(2) Both (A) and (R) are wrong.

(3) (A)isright, (R) is wrong.

(4) (R)isright, (A) is wrong.

Match List-I with List-II and select the correct answer using the codes given below.

List - I List — IT
(a) Buyer purchasing on the basis of (i) Arcos v/s. Ronnason & Son
description.
(b) Packing as description. (1)) Varley v/s. Whipp

(c) Reliance on description to be in (iii) Moore and Co. v/s. Landauer & Co.
contemplation of parties.
(d) Correspondence with description. (iv) Leaf v/s. International Galleries
Codes :
(a) (b) () (d)
() (D) (ii) (iv) (1)
(2 (1) (i) (iv) (1)
3 () (i) (1) (iv)
4  v) () (i) (i1)
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70. -1 31 GE-11 Sl ol IS0 3R e [T 70 Fef 1 T T Tl S &M

(a)
(b)
(©)
(d

T4

(=N

(1)
2
3)
“4)

T -1 = - 10
C (et rfafam o
(Tt | Haiea &) skt W T
farar fHaerent o i (i) «rT284
IR & §RT FR9TeR! 1 &M (i) T 201
e o fodeg FSeTeh! o fotu foeiy Qifates dwetor (il) €RT 260
STRIE 1 3TTEST (o¥Thl o 1T S el (iv) 9RT633
(a) (b) ©) (d)
(i) (i)  (iv) (i)
(iii) ) (iv) (i)
(iii) ) (i) (iv)
(iv) (i) ) (iii)

71. 3R (A) 3R HROT (R) 08 3K A KT 70 i 1 0T Y 96 S
e (A) : foafres Hot & ieR 99T ®0 F ‘gek e & Mg % SR 9 €, 98
3R ot UE=T B A HOAT TER AR W B Y W@ SAUHINGT & W ol @l AT

Tw
FHT

(=N

ey
2
3)
“4)

72, A1 S G-I A R T S S R T gt e A w5 e

(a)
(b)
(©)
(d

T4

(=N

ey
2
3)
4
J-58-16

= - 10
(i) TR I TS UUS T
(i) et sAW feE
(i) X UUE HUAT I TSTIOR UUS HHH!
(iv) % T TTHIEA TR

T § o T |
(R) : FiTh TA. | &, ek = U foran |
(A) 3R (R) 31 @&t & 31T (R), (A) ! Wl AR ¢ |
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73.

74.

75.

Read Assertion (A) and Reason (R) and write the correct answer by using codes given
below :

Assertion (A) : The essence of sale is the transfer of goods in property from the seller to

the buyer.
Reason (R) : Because Section 4(1) of sale of Goods Act stipulates so.
Codes :
(1) Both (A) and (R) are right and (R) is correct explanation of (A).
(2) Both (A) and (R) are wrong.
(3) (A)isright and (R) is wrong.
(4) (R)isright and (A) is wrong.

Which of the following statements are correct ?
(a) A partner of an unregistered firm can sue as a partner.
(b)  Anunregistered firm can enforce its claims against third parties in the civil courts.

(c) The chapter named Registration of firms in Partnership Act is applicable to Hindu
Trading Families.

(d) Registration of firms is designed primarily to protect third parties and the absence of
registration need not prevent disappearance of an unregistered or imperfectly

registered firm.
Codes :
(1) (a), (b), (¢) and (d) are correct. (2)  Only (a), (b) and (c) are correct.
(3)  Only (c) and (d) are correct. (4)  Only (d) is correct.

Who can be a partner in a firm ? Answer using codes given below :

(a) A trustee (b)  Another firm

(c) A Hindu undivided family (d) Wakfs

Codes :

(1) (a), (b), (c) and (d) (2)  Only (a), (¢) and (d)
(3)  Only (a) (4)  Only (c)
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